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THREEZRERRICERERSROIERERRSE TREFAZLTLEY,
FERENMNEMICHOTEH, RRICEATHEWGE(E, BRZAETIAQKICEAYVEER A,
Z0=6 BROFER. AQ-HFEBATAFTRIZGDBENHYFT A REIFT X JELTEYFET,

BT £ A0 R | Bt | R [ &t | R [ tHEER | EE
e 339 -8 160 -3 179 -5 155 -6
FLHT 185 -3 88 -2 97 -1 83 —1
ESHT 109 —1 41 -1 68 0 51 0
KEH 31 0 14 0 17 0 12 0
NER) 18 0 5 0 13 0 6 0
AR 155 -1 69 0 86 —1 60 -1
=1 39 0 7 0 32 0 1 0
78 L ET 373 —4 204 —4 169 0 234 -4
EHT 6 0 5 0 1 0 7 0
& HT 191 -2 77 -1 114 -1 63 -2
EEHT 165 1 76 0 89 1 89 1
AT 181 0 96 0 85 0 110 1
AHT 198 0 94 0 104 0 93 0
2 EHT 364 1 209 2 155 —1 214 2
$Er 58 —1 25 0 33 —1 39 0
18 faET 87 0 35 0 52 0 43 0
ESHT 108 0 56 0 52 0 58 0
—&T 0 0 0 0 0 0 0 0
NET 120 0 59 0 61 0 54 0
t&ET 143 0 66 0 77 0 59 0
INET 75 1 38 0 37 1 30 0
IET 178 -1 74 -1 104 0 86 0
+&T 214 0 91 0 123 0 109 0
35k Fe T 361 2 165 2 196 0 170 2
5iEET 3,083 -1 1,483 -5 1,600 4 1,361 3
EFAET 3,948 6 1,936 6 2,012 0 1,719 8
Ed=1:] 1,686 -2 826 -2 860 0 677 0
ohEHT 1,615 3 869 0 746 3 895 -1
FTHEET 642 -3 292 -2 350 —1 242 —4
H #THT 3,616 -9 1,758 -5 1,858 —4 1,683 -6
Lid6 BT 2,946 -11 1,431 -8 1515 -3 1,252 -8
¥R BT 2,888 20 1,412 11 1,476 9 1,092 17
JIIFEET AL 4512 -11 2,207 -10 2,305 —1 1,980 -3
JIIFE BT F 2,176 2 1,056 3 1,120 —1 860 3
ARKHET 9,028 21 4,395 17 4,633 4 3,872 14
=&HT 3,874 -3 1,853 1 2,021 —4 1,677 1
[ FH AT 1,432 9 744 8 688 1 632 8
EREFETER — 2,580 4 1,221 2 1,359 2 991 -3
EREFET R 5 2,060 3 1,010 2 1,050 1 853 0
EREFRT PR 5 655 -1 324 -2 331 1 269 -1
& K BT 5,491 -1 2,598 1 2,893 -2 2,148 3
R F0ET 279 1 270 1 9 0 271 1
EE 3] 4 0 9 0 X 0 2 0
EXRE—TH 351 -3 191 -1 160 -2 181 -3




EXREIZTH 233 -1 95 0 138 -1 121 0
EXREI=TH 1 0 0 0 1 0 1 0
EXRETETH 0 0 0 0 0 0 0 0
EXRETATH 215 0 106 0 109 0 92 0
LtEE 0 0 0 0 0 0 0 0
TEE—TH 297 5 137 2 160 3 148 3
TERI=TH 549 -2 253 -2 296 0 282 -1
TEBR=TH 224 -3 101 0 123 -3 96 0
BWEE—TH 431 -3 203 -2 228 —1 222 -1
WERI=TH 514 -2 229 1 285 -3 256 0
HEET=TH 234 2 109 1 125 1 138 1
e FrET—T B 324 2 160 0 164 2 144 2
BT =T H 400 4 201 3 199 1 214 2
EFEWLET—TH 123 1 55 1 68 0 61 0
L FEWLWET=TH 351 8 172 6 179 2 180 4
AR —TH 249 -1 120 -1 129 0 154 0
AR Z=TH 416 -1 199 0 217 -1 220 -1
=R—TH 122 0 60 0 62 0 59 0
E 241 7 113 3 128 4 132 5
[ H Hih 146 -2 75 -1 71 -1 115 -1
FPRET—TH 182 1 83 0 99 1 91 0
WA= TH 433 3 217 2 216 1 195 0
FRFET—TH 553 -2 257 0 296 -2 250 -1
bR =TH 459 -1 218 -1 241 0 193 -1
FFET=TH 694 -2 323 -1 371 -1 311 -2
hRFETE T B 403 1 196 1 207 0 206 1
FFEETRTH 595 -1 273 1 322 -2 233 0
FEET—TH 211 0 122 0 89 0 113 0
HER—TH 293 -1 164 -1 129 0 171 -1
AEER—TH 386 7 188 4 198 3 204 3
piEERI=TH 271 1 132 0 139 1 125 0
IER—TH 131 4 74 2 57 2 73 3
IERRI—TH 475 -1 228 0 247 -1 229 1
IEREI=TH 526 0 287 0 239 0 288 2
IERMTH 191 1 93 0 98 1 98 0
IERMATH 552 —6 259 —4 293 -2 309 -3
KimlI—TH 327 5 160 1 167 4 141 3
KimBI—TH 170 -2 85 -1 85 -1 88 -1
KFEH—TH 109 0 44 0 65 0 69 0
XFH=ZTH 3 0 0 0 3 0 4 0
KXFH=TH 130 2 73 1 57 1 56 2
TZEETAE—TH 672 6 334 5 338 1 267 0
TEEETE=TH 346 -2 157 0 189 -2 134 -1
TEEE=TH 652 2 313 2 339 0 247 2
TEETAEETH 579 -13 266 -5 313 -8 254 -6
TEEEAETH 686 -2 325 1 361 -3 328 1
T EETFEATH 547 0 274 -2 273 2 266 -2
TEEELETH 647 1 333 0 314 1 357 -1
T EETAE/NTH 624 2 284 -2 340 4 283 2
TZHRETE—TH 1,324 1 617 1 707 0 626 2
TREE=-TH 359 —1 186 0 173 -1 167 0
THRETER=TH 631 -2 301 -2 330 0 269 -1
TZETRMTH 940 0 420 -2 520 2 438 -1
THRETERATH 887 6 474 6 413 0 490 6
TZETRANTH 544 —6 270 -2 274 —4 272 -2
THRETEETH 1,522 -13 724 -6 798 -7 753 -4
TZETR/\TH 1,080 7 504 5 576 2 605 7
THRETREATH 331 —1 183 0 148 -1 176 0
T EETdE—TH 89 —1 51 0 38 -1 77 -1




T2ETAL—TH 96 2 62 1 34 1 80 1
I =t 81,284 17| 39,581 24 41,703 -7| 36,654 42
AERXE 72 1 30 1 42 0 53 1
AEHRTH 53 —1 28 0 25 -1 26 -1
AERTR4E 3 0 0 0 3 0 4 0
A ERT /R 76 0 36 0 40 0 31 0
AEBTKE 0 0 0 0 0 0 0 0
AEHET{EH 26 0 13 0 13 0 11 0
AERRE 1 0 2 0 X 0 1 0
AERTA /R 7 0 3 0 4 0 6 0
4B 5 -1 2 0 3 -1 4 -1
AEMXEST 243 -1 114 1 129 -2 136 -1
LERISIA 23 0 13 0 10 0 14 0
LERLINE 32 0 13 0 19 0 24 0
LERTZ DL 21 —1 9 -1 12 0 14 0
[LERTEHER 9 0 4 0 5 0 10 0
LERTER 31 —1 11 -1 20 0 21 —1
I SET T 3 9 0 6 0 3 0 10 0
LERXA 13 0 7 0 6 0 7 0
LER/NMNEE 26 0 14 0 12 0 11 0
FEHT 13 0 10 0 3 0 11 0
[LEXE 177 -2 87 -2 90 0 122 -1
BUEER &5 420 -3 201 -1 219 -2 258 -2
FEERETE £ 1,147 -6 545 -3 602 -3 473 -2
EETHET 649 -5 287 —1 362 -4 224 —1
AT EHE 1,078 -3 530 -2 548 -1 410 0
e IRET [ H 7 1,055 -1 505 0 550 —1 408 1
BB ERER 1,299 —4 628 -3 671 -1 393 0
BT ERETR 1,083 2 511 -1 572 3 447 4
BT = A 3,663 2 1,759 3 1,904 -1 1,495 2
AR X SR AT 9974 -15[ 4,765 -7| 5,209 -8| 3,850 4
BRILIAT E LTS 1,718 -3 805 -4 913 1 639 2
SRILBT AT F 2,453 -5 1,177 0 1,276 -5 996 3
EAEIE YN 1,802 1 893 -1 909 2 753 4
BRILET A 3R T 1,599 7 795 3 804 4 631 6
BRILET SR 1,303 4 621 3 682 1 518 4
AR LLET )R 2,300 -5 1,114 -1 1,186 —4 895 -6
EALESTE 4719 5 2,309 -1 2410 6 2,046 0
Bl X £ 5t 15,894 4 7,714 -1 8,180 5 6,478 13
& L 107,572 3 52,261 15| 55,311 -12| 47,240 57




